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PART – I ¼¼¼¼HkkxHkkxHkkxHkkx – I½½½½ 
MENTAL ABILITY TEST 

ckSf)dckSf)dckSf)dckSf)d    ;ksX;rk ijh{k.k;ksX;rk ijh{k.k;ksX;rk ijh{k.k;ksX;rk ijh{k.k 
  Questions : 1 to 100                   Time : 2 Hours 

1. In the following series of numbers, 

find out how many times 1, 3 and 

7 have appeared together, 7, being 

in the middle and 1 and 3 on 

either side of 7. 

2 9 7 3 1 7 3 7 7 1 3 3 1 7 3 8 5 7 1 

3 7 7 1 7 3 9 0 6  

(1) 3 (2) 4 

(3) 5 (4) More than 5 

  
1. nh xbZ la[;k Ük`a[kyk esa fdrus ckj 1, 3 o 

7 bDV~Bs bl izdkj gSa fd 7 chp esa gks 
rFkk 1 o 3, 7 ds fdlh Hkh vksj gksaA 
 
 

2 9 7 3 1 7 3 7 7 1 3 3 1 7 3 8 5 7 1 

3 7 7 1 7 3 9 0 6 

(1) 3 (2) 4 

(3) 5 (4) 5 ls vf/kd 

2. Direction : In the following 

question insert the missing 

number in place of question mark 

from the given alternatives. 

 

(1) 54  

(2) 70 

(3) 72  

(4) 80 

  
2. oDrO;oDrO;oDrO;oDrO;    %%%% uhps fn, x, pkj fodYiksa esa ls 

mfpr fodYi dks pqfu, tks fn, x, iz'u 
esa iz'u fpg~u ds LFkku ij vk ldsA 
 

 

(1) 54  

(2) 70 

(3) 72  

(4) 80 
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3. The following questions are based 

on letter series in which some 

letters are missing. The missing 

letters are given in a proper 

sequence as one of the alternatives 

among the given four alternatives 

under the question - 

 b––abbc––bbca––bcabb–––ab 

(1) acaa (2) acba 

(3) cabc (4) cacc 

  
3. ,d NksVs v{kjksa dh Ük`a[kyk nh xbZ gSA tks 

,d fuf'pr Øe esa gSA dqN v{kj Ük`a[kyk 
ls yqIr gSaA fn, x, fodYiksa eas ls v{kjksa 
dk ,d lgh lewg Nk¡fV, ftuls fjDr 
LFkkuksa dh iwfrZ dh tk lds & 
 
 

b––abbc––bbca––bcabb–––ab 

(1) acaa (2) acba 

(3) cabc (4) cacc 

4. The numbers have been arranged 

under some rule. Based on that 

rule, which number will come in 

place of the question mark ?  

4, 5, 8,17, 44, ? 

(1) 102 (2) 104 

(3) 125 (4) 110 

  
4. la[;k,¡ fdlh fu;e ds vk/kkj ij fy[kh 

xbZ gSaA mlh fu;e ds vk/kkj ij iz'uokpd 
fpg~u ds LFkku ij dkSu&lh la[;k 
vk,xh \ 

4, 5, 8,17, 44, ? 

(1) 102 (2) 104 

(3) 125 (4) 110 

5. In the question below is given two 

or more statements followed by 

two conclusions numbered I and 

II. You have to take the given 

statements to be true even if they 

seem to be at variance from 

commonly known facts. Read all 

the conclusion and then decide 

which of the given conclusions 

logically follows from the given 

statements disregarding commonly 

known facts - 

  
5. fuEufyf[kr iz'u esa nks ;k vf/kd oDrO;ksa 

ds i'pkr nks fu"d"kZ I o II fn, x, gSaA 

lkekU; Kkr rF;ksa dk /;ku uk j[kdj fn, 

x, nks oDrO;ksa ij vk/kkfjr rkfdZd 

fu"d"kks± dks fu/kkZfjr djsa & 
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Statements : 

No giraffe is a leopard. 

All leopards are kangaroos. 

All kangaroos are wolfs. 

Conclusions : 

(I) All kangaroos can never be 

giraffes.  

(II) All giraffes are definitely 

wolfs. 

Give Answer 

(1) If only conclusion I follows. 

(2) If only conclusion II follows. 

(3) If either conclusion I or 

conclusion II follows. 

(4) If both conclusion I and II 

follows. 

oDrO; %oDrO; %oDrO; %oDrO; %    

dksbZ Hkh ftjkQ rsanqvk ugha gSA 

lHkh rasnq,¡] daxk: gSaA 

lHkh daxk:] HksfM+,¡ gSA 

fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ %    

(I) lHkh daxk: dHkh Hkh ftjkQ ugha gks 
ldrsA 

(II) lHkh ftjkQ fuf'pr :i ls HksfM+,¡ gSaA 

mÙkj nhft,mÙkj nhft,mÙkj nhft,mÙkj nhft,    

(1) ;fn fu"d"kZ dsoy I gksA 

(2) ;fn fu"d"kZ dsoy II gksA 

(3) ;fn fu"d"kZ I vFkok II eas dksbZ ,d 
gksA 

(4) ;fn fu"d"kZ I o II nksuksa gksaA 

6. Identify the figure that completes 

the pattern (x) - 

 

 

      (1)          (2)        (3)         (4) 

  
6. og vkd`fr Nk¡fV, tks fn, x, iSVuZ (x) 

dks iwjk djsa & 

 

 

      (1)          (2)        (3)         (4) 
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7. A monkey climbs 10 metres at the 

beginning of each hour and rest for 

a while when he slips back 5 

metres before he again starts 

climbing in the beginning next 

hour. If he starts climbing at 8 a.m. 

at what time will he first touch the 

flag at 50 metres from the ground ? 

(1) 4 p.m.  

(2) 5 p.m. 

(3) 6 p.m.  

(4) 7 p.m. 

  
7. ,d canj izR;sd ?kaVs ds 'kq: esa 10 ehVj 

p<+rk gSA rFkk ,d {k.k ds fy, foJke 
djrk gSA ijUrq vxys ?kaVs ds 'kq: esa 
nksckjk p<+us ls igys og 5 ehVj fQly 
tkrk gSA ;fn og 8 cts izkr% p<+uk 'kq: 
djs rks 50 ehVj Åaps /ot dks fdrus cts 
Li'kZ dj ysxk \ 
 

(1) 4 p.m.  

(2) 5 p.m. 

(3) 6 p.m.  

(4) 7 p.m. 

8. Which number replaces the 

question mark ? 

 

(1) 9  

(2) 11 

(3) 12  

(4) 13 

  
8. iz'u fpg~u ds LFkku ij dkSu&lh la[;k 

vk,xh \ 

 

(1) 9  

(2) 11 

(3) 12  

(4) 13 



  ( 7 ) A 

NTSE(Level-1) Exam. Nov. – 2018  P. T. O. 

9. Which number replace the 

question mark in the figure given 

below ? 

3 GNQ 8 

3 RBS 9 

4 TUA 2 

2 FPC 5 

3 OLH ? 

(1) 3 (2) 5 

(3) 8 (4) 9 

  
9. iz'u fpg~u ds LFkku ij dkSu&lh la[;k 

vk,xh \ 
 

3 GNQ 8 

3 RBS 9 

4 TUA 2 

2 FPC 5 

3 OLH ? 

(1) 3 (2) 5 

(3) 8 (4) 9 

10. In a family of eight people, lawyer 

is married to a teacher and has 

three sons, one engineer, one 

doctor and one actor. The actor's 

wife is a dancer and aunt of Emily. 

Emily, the daughter of engineer 

learns martial arts with her 

brother Joseph. How is doctor 

related to Joseph ? 

(1) Son  

(2) Brother 

(3) Nephew  

(4) Uncle 

  

10. ,d ifjokj ds vkB lnL;ksa esa ls odhy 
dk fookg ,d v/;kfidk ls gqvk gS rFkk 
muds rhu iq= gSa] ftuesa ls ,d bathfu;j] 
,d MkWDVj rFkk ,d vfHkusrk gSA vfHkusrk 
dh iRuh ,d Mkalj gS o ,feyh dh pkph 
gSA ,feyh] tks fd bathfu;j dh iq=h gS 
vius HkkbZ tkslsQ ds lkFk ;q) dyk 
lh[krh gSA MkWDVj dk tkslsQ ds lkFk D;k 
lEcU/k gS \ 

(1) iq=  

(2) HkkbZ 

(3) Hkrhtk   

(4) pkpk 
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11. Which of the following is the 

mirror image of the figure (x) 

given ? 

 
(x) 

(1)

   

(2)

  

(3)

   

(4)

  

  
11. nh xbZ vkd`fr (x) dk fuEu esa ls lgh 

niZ.k izfrfcEc dkSu&lk gS \ 
 

 
(x) 

(1)

   

(2)

  

(3)

   

(4)

  

12. Arrange the following words as 

per order in the dictionary - 

(1) Tortoise (2) Torrid (3) Torso 

(4)  Torque  (5)  Tortuous 

Options : 

(1) 4, 2, 3, 1, 5  

(2) 3, 2, 4, 1, 5 

(3) 2, 3, 4, 5, 1  

(4) 4, 3, 2, 1, 5 

  
12. fuEufyf[kr 'kCnksa dks 'kCndks'k esa fn, x, 

Øe ds vuqlkj fyf[k, & 

(1) Tortoise (2) Torrid (3) Torso 

(4)  Torque  (5)  Tortuous 

fodYi %fodYi %fodYi %fodYi %    

(1) 4, 2, 3, 1, 5  

(2) 3, 2, 4, 1, 5 

(3) 2, 3, 4, 5, 1  

(4) 4, 3, 2, 1, 5 
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13. The reflex angle between the 

hands of a clock at 10:25 is - 

(1) 180° (2) 192
2

1°
 

(3) 195° (4) 197
2

1°
 

  
13. 10:25 ij ?kM+h dh lwbZ;ksa esa c̀gr dks.k 

(reflex angle) fdrus va'k dk gksrk gS \ 

(1) 180° (2) 192
2

1°
 

(3) 195° (4) 197
2

1°
 

Direction : (Q. No. 14 to 16) 

In the following figure small square 

represents the persons who know 

English, triangle to those who Marathi, 

big square to those who know Telugu 

and circle to those who know Hindi. In 

the different regions of the figures from 

2 to 12 are given. 

 

  
funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 14 ls 16 rd½ 

nh xbZ vkd`fr esa NksVk oxZ vaxzsth tkuus okys 
O;fDr;ksa dks] f=Hkqt ejkBh tkuus okys O;fDr;ksa 
dks] cM+k oxZ rsyxw tkuus okys O;fDr;ksa dks rFkk 
o`Ùk fgUnh tkuus okys O;fDr;ksa dks iznf'kZr djrk 
gSA vkd`fr ds fHkUu fHkUu {ks=ksa dks 2 ls 12 rd 
n'kkZ;k x;k gSA 

 

14. How many persons can speak 

English and Hindi both  languages 

only ? 

(1) 5 (2) 8 

(3) 7 (4) 18 

  

14. fdrus O;fDr dsoy vaxzsth o fgUnh nksuksa 
Hkk"kk,¡ cksy ldrs gaS \ 
 

(1) 5 (2) 8 

(3) 7 (4) 18 

  ejkBh 
 vaxzsth 

 fgUnh 

 rsyxw 

Marathi 
English 

Hindi 

Telugu 
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15. How many persons can speak 

English, Hindi and Telugu ? 

(1) 8  

(2) 2 

(3) 7  

(4) 10 

  
15. fdrus O;fDr vaxzsth] fgUnh o rsyxw cksy 

ldrs gSa \ 

(1) 8  

(2) 2 

(3) 7  

(4) 10 

16. How many persons can speak all 

the languages ? 

(1) 1  

(2) 8 

(3) 2  

(4) None 

  
16. fdrus O;fDr lHkh Hkk"kk,¡ cksy ldrs gSa \ 

 

(1) 1  

(2) 8 

(3) 2  

(4) dksbZ ugha 

17. Choose the alternative which 

closely resembles the water-image 

of the given combination. 

 DISC 

(1) CSID  

(2)  

(3)   

(4) DISC 

  

17. DISC dk ikuh esa dSlk izfrfcEc cusxkA 
fn, x, fodYiksa esa ls lgh fodYi Nk¡fV,A 
 

 

(1) CSID  

(2)  

(3)   

(4) DISC 
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18. First bunch of bananas has (1/4) 

again as many bananas as second 

bunch. If the second bunch has 

three bananas less than the first 

bunch, then the number of 

bananas in the first bunch are - 

(1) 9 (2) 10  

(3) 12 (4) 15 

  
18. dsys ds ,d xqPNs esa nwljs xqPNs ds dsyksa ls 

,d pkSFkkbZ dsys vf/kd gaSA ;fn dsykas ds 
nwljs xqPNs esa] igys xqPNs ls rhu dsys de 
gksa] rks igys xqPNs esa dsykas dh la[;k gS & 
 
 

(1) 9 (2) 10  

(3) 12 (4) 15 

19. Six sides of a cube are coloured in 

the following manner : 

 

Blue and Orange are opposite and 

Red is on the top which colour will 

be at the bottom ? 

(1) Black 

(2) White 

(3) Orange   

(4) Yellow 

  
19. ,d ?ku ds 6 i`"B fuEu fp= vuqlkj jax 

fd, x, gSa % 

 

;fn uhyk rFkk larjh foijhr i`"Bksa ij gksa 
rFkk yky Åij ds i`"B ij gks] rks uhps  
ds i`"B ij dkSu&lk jax gksxk \ 

(1) dkyk  

(2) lQsn 

(3) larjh  

(4) ihyk 

Direction : (Q. No. 20 to 23)  

There are eight persons namely A, B, C, 

D, E, F, G and H lives on eight different 

floors from one to eight. Ground floor is 

number 1 and top floor is number eight 

but persons do not necessarily live in the 

  

funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 20 ls 23½ 

vkB O;fDr A, B, C, D, E, F, G rFkk H 
fHkUu&fHkUu vkB eaftyksa esa jgrs gSaA ftuds uEcj 
,d ls vkB gSaA lcls uhps dh eafty dk uEcj 
,d rFkk lcls Åij dh eafty dk uEcj vkB gSA 
ysfdu ;g vko';d ugha fd eaftyksa esas Øekuqlkj 

Blue 

White 
Red 

Orange 

Black 

Y
e
ll
o
w
 uhyk 

lQsn ykYk 

larjh 

dkyk ih
yk
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same order. Only three persons live 

below the floor on which E lives. Two 

persons live between the floor on which 

E and H live. More than one person live 

between the floor on which E and A 

lives. C lives immediately above G. C 

lives on odd numbered floor. Only one 

person lives between B and F. B lives 

one of the above floor on which F lives. D 

lives on even numbered floor but not on 

2nd floor. 

jgrs gksaA dsoy rhu O;fDr ml eafty ds uhps 
jgrs gSa ftlesa E jgrk gSA nks O;fDr mu eaftyksa 
ds chp esa jgrs gSa ftuesa E rFkk H jgrs gSaA ftu 
eaftyksa ij E rFkk A jgrs gSa mu eaftyksa ds chp 
esa ,d ls vf/kd O;fDr jgrs gSaA C, G ds fcYdqy 
Åij okyh eafty ij jgrk gSA C dh eafty dk 
uEcj fo"ke la[;k gSA B rFkk F ds chp esa dsoy 
,d O;fDr jgrk gSA B, F ls Åij ,d eafty 
NksM+dj jgrk gSA D dh eafty dk uEcj le 
la[;k gSS ijUrq nks ugha gSA 

20. Who lives on floor number eight ? 

(1) B (2) C 

(3) A (4) D 

  
20. vkB uEcj dh eafty ij dkSu jgrk gS \ 

(1) B (2) C 

(3) A (4) D 

21. How many persons live between 

F and A ? 

(1) One (2) Three 

(3) Five (4) Two 

  
21. F rFkk A ds chp fdrus O;fDr jgrs gSa \ 

 

(1) ,d  (2) rhu 

(3) ik¡p (4) nks 

22. Who lives immediate below G ? 

(1) B (2) H 

(3) A  (4) E 

  
22. G ds fcYdqy uhps dkSu jgrk gS \ 

(1) B (2) H 

(3) A  (4) E 

23. Who lives on third floor ? 

(1) C (2) F 

(3) E  (4) D 

  
23. rhljh eafty ij dkSu jgrk gS \ 

(1) C (2) F 

(3) E  (4) D 
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24. Which of the following Venn 

diagrams indicates the best 

relation between Travellers, Train 

and Bus ? 

(1)
   

(2)
  

(3)
   

(4)

  

  
24. dkSu&lk osu vkjs[k ;k=h] jsyxkM+h rFkk cl 

ds laca/k dks iznf'kZr djrk gS \ 
 

(1)
   

(2)
  

(3)
   

(4)

  

25. Group the given 9 figures into 

three classes using each figure 

only once - 

 

(1) 1, 3, 9; 2, 5, 6;  4, 7, 8 

(2) 1, 3, 9; 2, 7, 8;  4, 5, 6 

(3) 1, 2, 4;  3, 5, 7;  6, 8, 9 

(4) 1, 3, 6;  2, 4, 8;  5, 7, 9 

  
25. nh xbZ 9 vkd`fr;ksa dks lkekU; xq.kksa ds 

vk/kkj ij rhu oxks± esa fdl izdkj 
foHkkftr fd;k tk ldrk gS] tcfd ,d 
vkd`fr dsoy ,d gh oxZ esa gksxh & 

 

(1) 1, 3, 9; 2, 5, 6;  4, 7, 8 

(2) 1, 3, 9; 2, 7, 8;  4, 5, 6 

(3) 1, 2, 4;  3, 5, 7;  6, 8, 9 

(4) 1, 3, 6;  2, 4, 8;  5, 7, 9 
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26. Find the odd one out - 

331, 482, 551, 263, 383, 362, 284 

 

(1) 263 (2) 383 

(3) 331 (4) 551 

  
26. ml la[;k dks Nk¡fV, tks vU; la[;kvksa lss 

fHkUu gks & 

331, 482, 551, 263, 383, 362, 284 

(1) 263 (2) 383 

(3) 331 (4) 551 

27. Find the number of triangles in 

the below figure ? 

 

(1) 20 (2) 22 

(3) 16 (4) 28 

  
27. nh xbZ vkd`fr esa f=Hkqtksa dh la[;k fdruh 

gS \ 

 

(1) 20 (2) 22 

(3) 16 (4) 28 

28. The words in the bottom row are 

related in the same way as the 

words in the top row. For each 

item, find the word that completes 

the bottom row of words - 

ant fly bee 

hamster squirrel ? 

(1) Spider 

(2) Mouse 

(3) Rodent  

(4) Cat 

  
28. uhps dh iafDr esa fn, x, 'kCnksa dk vkil 

esa ogh lEca/k gS tSlk fd Åij dh iafDr 
esa fn, x, 'kCnksa dkA ml 'kCn dks Nk¡fV, 
ftlls uhps dh iafDr iw.kZ gks tk, & 
 

phaVh eD[kh e/kqeD[kh 

gElVj fxygjh ? 

(1) edM+h 

(2) pwgk 

(3) d`ard ¼drjus okys tho½ 

(4) fcYyh 
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29. In the question below an equation 

becomes incorrect due to the 

interchange of two signs. One of 

the four alternatives under it 

specifies the interchange of signs 

in the equation, which when made 

will make the equation correct.  

Find the correct alternative : 

 5 + 6 ÷ 3 – 12 × 2 = 17 

(1) ÷ and ×  

(2) + and × 

(3) + and ÷  

(4) + and – 

  
29. fn, x, iz'u esa nks xf.krh; fpg~uksa ds 

ijLij  ifjorZu gks tkus ds dkj.k 

lehdj.k xyr gks xbZ gSA fn, x, fodYiksa 

esa ls ml fodYi dks Nk¡fV, ftlls fn, x, 

fpg~uksa dks ijLij ifjofrZr djus ij 

lehdj.k lgh gks tk,A  

lgh fodYi Kkr dhft, % 

5 + 6 ÷ 3 – 12 × 2 = 17 

 

(1) ÷ rFkk ×  

(2) + rFkk × 

(3) + rFkk ÷  

(4) + rFkk – 

30. Today is Monday. After 61 days it 

will be - 

(1) Tuesday  

(2) Monday 

(3) Sunday  

(4) Saturday 

  

30. ;fn vkt lkseokj gSA rks 61 fnu ds ckn 
dkSu&lk okj gksxk \   

(1) eaxyokj   

(2) lkseokj 

(3) jfookj  

(4) 'kfuokj 
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31. The figure (x) is folded to form a 

box. Choose from the alternative 

(i), (ii), (iii) and (iv) the boxes that 

is similar to the box formed - 

 

          (x) 

 

     (i)          (ii)       (iii)      (iv) 

(1) (ii) and (iii) only  

(2) (i), (iii) and (iv) only 

(3) (ii) and (iv) only 

(4) (i) and (iv) only 

  
31. ml fodYi  dks Nk¡fV, tks nh xbZ vkd`fr 

(x) dks eksM+dj cuk, x, fMCcs ds le:i 
gksxh & 

 

          (x) 

 

     (i)          (ii)       (iii)      (iv) 

(1) dsoy (ii) vkSj (iii) 

(2) dsoy (i), (iii) vkSj (iv) 

(3) dsoy (ii) o (iv) 

(4) dsoy (i) o (iv) 

32. Direction : Study the following 
information and answer the 

question given below it. 

There is a group of five persons  

K, G, H, R and J.  

(i) K, G and H are intelligent. 

(ii) K, R and J are hard-working. 

(iii) R, H and J are honest. 

(iv) K, G and J are ambitious. 

Which of the following person is 
neither hard-working nor 

ambitious ? 

(1) K (2) G 

(3) H (4) R 

  32. funsZ'k %funsZ'k %funsZ'k %funsZ'k % fuEufyf[kr nh xbZ tkudkjh dks 
/;ku esa j[krs gq, mÙkj nsaA 
 

ik¡p O;fDr;ksa K, G, H, R rFkk J dk ,d 
lewg gSA 

(i) K, G rFkk H cqf)eku gSaA 

(ii) K, R rFkk J ifjJeh gSaA 

(iii) R, H rFkk J bZekunkj gSaA 

(iv) K, G rFkk J egRokdka{kh gSaA 

fuEu esa ls dkSu O;fDr uk rks ifjJeh gS 
rFkk uk gh egRokdka{kh \ 

(1) K (2) G 

(3) H (4) R 
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33. In a school 80 students have 

registered for a singles carrom 

tournament. Each match 

eliminates one player. How many 

matches are to be organised to 

determine the champion ? 

(1) 40  

(2) 41 

(3) 79  

(4) 80 

  
33. ,d fo|ky; esa 80 fo|kfFkZ;ksa us dSje dh 

,dy [ksy izfr;ksfxrk esa iathdj.k djok;kA 
izR;sd [ksy esa ,d f[kykM+h ckgj fudyrk 
tkrk gSA loZfotsrk fu/kkZfjr djus ds fy, 
fdrus [ksykas dk vk;kstu djuk gksxk \ 
 

(1) 40  

(2) 41 

(3) 79  

(4) 80 

34. Choose a figure which would most 

closely resemble the unfolded form 

of Figure (Z). 

       (1)            (2)          (3)           (4) 

  
34. ;fn eksM+h xbZ vkd`fr ds :i (Z) dks [kksyk 

tk, rks fn, x, fodYiksa esa ls dkSu&lh 
vkd`fr cusxh \ 

       (1)            (2)          (3)           (4) 

35. If Z = 52 and ACT = 48 then BAT 

will be equal to - 

(1) 39  

(2) 41 

(3) 44  

(4) 46 

  
35. ;fn Z = 52 rFkk ACT = 48 rks BAT 

leku gksxk & 

(1) 39  

(2) 41 

(3) 44  

(4) 46 
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36. How many triangles are there in 

the following figure ? 

 

(1) 10  

(2) 6 

(3) 8  

(4) 5 

  
36. nh xbZ vkd`fr esa f=Hkqtksa dh la[;k fdruh 

gS \ 

 

(1) 10   

(2) 6 

(3) 8   

(4) 5 

37. How many days are there in x 

weeks and x  days ? 

(1) 7x2 (2) 8x 

(3) 14x (4) 7 

  
37. x lIrkg o x fnuksa eas dqy fdrus fnu 

gksrs gSa \ 

(1) 7x2 (2) 8x 

(3) 14x (4) 7 

38. Choose the correct option which 

would complete the figure (x) 

 

      (1)            (2)          (3)           (4) 

  
38. fn, x, fodYiksa esa ls dkSu&lk fodYi 

vkd`fr (x) dks iwjk dj nsxk \ 

 

      (1)            (2)          (3)           (4) 
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39. At what time between 7 and 8 

O'clock will the hands of a clock be 

in the same straight line but, not 

together ? 

(1) 5 min. Past 7 

(2) 5
11

2
 min. Past 7 

(3) 5
11

3
 min. Past 7 

(4) 5
11

5
 min. Past 7 

  
39. 7 o 8 cts ds chp fdl le; ij ?kM+h 

dh lwbZ;k¡ ,d ljy js[kk esa gksaxh ijUrq 
,d nwljs ds Åij ugha \ 
 

(1) 7 ctdj 5 feuV ij 

(2) 7 ctdj 5
11

2  feuV ij 

(3) 7 ctdj 5
11

3  feuV ij 

(4) 7 ctdj 5
11

5  feuV ij 

40. In the given table numbers are 

written according to some pattern 

and one number is missing. Find 

the missing number that replaces 

the question mark. 

12 47 21 

10 52 4 

64 ? 24 

(1) 16  

(2) 40 

(3) 62  

(4) 83 

  
40. nh xbZ lkfj.kh esa la[;k,¡ fdlh fu;e ds 

vk/kkj ij fy[kh xbZ gSa buesa ls ,d la[;k 
yqIr gSA yqIr la[;k Kkr djsa tks iz'u 
fpg~u ds LFkku ij mi;qDr gksA 

12 47 21 

10 52 4 

64 ? 24 

 

(1) 16  

(2) 40 

(3) 62  

(4) 83 
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41. If B5D means B is the father of D. 

B9D means B is the sister of D. 

B4D means B is the brother of D. 

B3D means B is the wife of D. 

Which of the following means F is 

the mother of K ? 

(1) F3M5K  

(2) F5M3K 

(3) F9M4N3K  

(4) F3M5N3K 

  
41. ;fn B5D dk vFkZ B, D dk firk gSA 

B9D dk vFkZ B, D dh cgu gSA 

B4D dk vFkZ B, D dk HkkbZ gSA 

B3D dk vFkZ B, D dh iRuh gSA 

fdldk vFkZ gS fd F, K dh ekrk gS \ 
 

(1) F3M5K  

(2) F5M3K 

(3) F9M4N3K  

(4) F3M5N3K 

42. A clock is set right at 5 A.M. The 

clock loses 16 minutes in 24 hours. 

What will be the exact time when 

the clock indicates 10 P.M. on 

fourth day ?  

(1) 11 P.M.  

(2) 12 P.M. 

(3) 1 P.M.  

(4) 2 P.M. 

  
42. ,d ?kM+h dk le; lqcg 5 cts lgh fd;k 

x;kA ;fn ?kM+h 24 ?k.Vs eas 16 feuV ihNs 

gks tkrh gks] rks ml le; okLrfod le; 

D;k gksxk] tc ?kM+h ij pkSFks fnu 10 P.M. 

cts gksa \ 

(1) 11 P.M.  

(2) 12 P.M. 

(3) 1 P.M.  

(4) 2 P.M. 
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43. Select a figure from the given four 

alternatives, which placed in the 

(?) which complete the pattern - 

Problem Figures : 

 
             (x) 

Answer Figures : 

 

      (1)         (2)       (3)        (4) 

  
43. ml fodYi dks pqfu, tks iz'uokpd fpg~u 

¼\½ ds LFkku ij j[kus ij vfHkdYiuk@ 
uewuk dks iwjk dj nsxk & 

leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %    

 
             (x) 

mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %    

 

      (1)         (2)     (3)          (4) 

44. Choose the pair that best 

represents a similar relationship 

to the expressed in the original 

pair or words - 

MONK : DEVOTION 

(1) Maniac : Pacifism 

(2) Explorer : Contentment 

(3) Visionary : Complacency  

(4) Rover : Wanderlust 

  
44. ml tksM+s dks Nk¡fV, ftlesa ewy tksM+s ;k 

'kCn ds vuq:i lEca/k gksa & 

lk/kq % HkfDrHkko 
 

(1) ikxy % 'kkafrokn 

(2) [kkstdrkZ % larks"k 

(3) [;kyh ¼dfYir½ % 'kkyhurk 

(4) ?kqearw % lQj dk vuqjkx 

45. In the question given below, find 

out the alternative which will 

replace the question mark ? 

123 : 132 :: 235 : ? 

(1) 232 (2) 352 

(3) 253 (4) 252 

  
45. fn, x, fodYiksa esa ls dkSu&lk fodYi 

iz'uokpd fpg~u ds LFkku ij vk,xk \ 

123 : 132 :: 235 : ? 

 

(1) 232 (2) 352 

(3) 253 (4) 252 
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46. If South–East becomes North, and 

North–East becomes West, then 

West becomes : 

(1) North – East  

(2) South – East 

(3) North – West  

(4) South – West 

  
46. ;fn nf{k.k&iwoZ] mÙkj cu tk,] rFkk 

mÙkj&iwoZ] if'pe cu tk,] rks if'pe cu 
tk,xkA 

(1) mÙkj&iwoZ  

(2) nf{k.k&iwoZ 

(3) mÙkj&if'pe  

(4) nf{k.k&if'pe 

47. If diamond is called gold, gold is 

called silver, silver is called ruby 

and ruby is called emerald, which 

is the cheapest jewel ? 

(1) Diamond (2) Silver 

(3) Gold (4) Ruby 

  
47. ;fn ghjs dks lksuk] lksus dks pkanh] pkanh dks 

ekf.kd rFkk ekf.kd dks iUuk dgk tkrk gks] 
rks dkSu&lk xguk lcls lLrk gS \ 
 

(1) ghjk (2) pkanh 

(3) lksuk (4) ekf.kd 

48. In the following figure triangle 

represents 'girls', Rectangle 

'players' and circle 'coach'. Which 

part of the diagram represents the 

girls who are player but not coach ? 

      

(1) P (2) Q 

(3) R (4) S 

  
48. fuEu fp= esa f=Hkqt ^yM+fd;ksa* dks] vk;r 

^f[kykfM+;ksa* dks rFkk o`r ^dksp* dks iznf'kZr 
djrk gSA fp= dk dkSu&lk Hkkx mu 
yM+fd;ksa dks iznf'kZr djrk gS tks fd 
f[kykM+h gSa ijUrq dksp ugha gSa \ 

      

(1) P (2) Q 

(3) R (4) S 

yM+fd;k¡ dksp 

f[kykM+h 

Girls Coach 

Players 
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49. If A$B means A is the father of B; 

A#B means A is the sister of B; 

A*B means A is the daughter of B 

and A@B means A is the brother of 

B. Which of the following indicates 

that M is wife of Q ? 

(1) Q$R#T@M  

(2) Q$R@T#M 

(3) Q$R*T#M  

(4) Q$R@T*M 

  
49. ;fn A$B dk vFkZ] A,B dk firk gSA 

A#B dk vFkZ] A,B dh cgu gSA A*B 
dk vFkZ] A,B dh iq=h gSA rFkk A@B dk 
vFkZ] A,B dk HkkbZ gSA rks fuEufyf[kr eas 
ls dkSu&ls lEcU/k dk rkRi;Z  M,Q dh 
iRuh gS \ 

(1) Q$R#T@M  

(2) Q$R@T#M 

(3) Q$R*T#M  

(4) Q$R@T*M 

Direction : (Q. No. 50 & 51) 

Which one of the answer figure would 

occupy the next position in the problem 

figure, if the change continue in same 

order. 

  
funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 50 ,oa 51½  

;fn iz'u vkd`fr;k¡ leku Øe ls cnys rks vxys 
Øe ij mÙkj vkd`fr;ksa esa ls dkSu&lh vkd`fr 
LFkku ik,xh \ 

50. Question Figures : 

 

Answer Figures : 

 

       (1)          (2)          (3)        (4) 

  50. iz'u vkd`fr %iz'u vkd`fr %iz'u vkd`fr %iz'u vkd`fr %    

 

mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %    

 

       (1)          (2)          (3)        (4) 
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51. Question Figures : 

 

 

Answer Figures : 

 

      (1)          (2)         (3)          (4) 

  
51. iz'u vkd`fr %iz'u vkd`fr %iz'u vkd`fr %iz'u vkd`fr % 

 

    
mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr % 

 

      (1)          (2)         (3)          (4) 

52. In the question below, two words 

are given. These words are related 

to each other in some way. You are 

required to find out the 

relationship between the first 2 

words and choose the word from 

the given alternative, which bears 

the same relationship to the third 

word. 

Malaria : Disease : : Spear : ? 

(1) Wound  

(2) Sword 

(3) Weapon  

(4) War 

  

52. fn, x, iz'u esa nks 'kCn fn, x, gSa ftudk 

vkil esa fdlh izdkj dk lEca/k gSA nksuksa 

'kCnksa ds chp ds lEca/k dks ns[krs gq, fn, 

x, fodYiksa esa ls ml 'kCn dks Nk¡fV, 

ftldk rhljs 'kCn ls ogh lEcU/k gksA 

 

eysfj;k % jksx % % Hkkyk % \ 
 
 

(1) ?kko   

(2) ryokj 

(3) gfFk;kj  

(4) ;q) 
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53. Choose the set of figures which 

follows the given rule. 

Rule : Any figure can be traced by 

a single unbroken line without 

retracting. 

(1)

  

(2)

  

(3)

  

(4)

  

  
53. ,slh vkd`fr;ksa ds lewg dks Nk¡fV, ftldh 

izR;sd vkd`fr dks ,d fcUnq ls 'kq: djds 
fcuk isu@isafly mBk, cuk;k tk lds] 
ijUrq fdlh js[kk] [k.M@oØ ij isu@isafly 
nksckjk uk pysA 

(1)

  

(2)

  

(3)

  

(4)

  

54. Find out from amongst the four 

alternatives as to how the pattern 

would appear when the 

transparent sheet is folded at the 

dotted line. 

 
(X) 

      (1)           (2)             (3)           (4) 

  
54. ;fn ikjn'khZ dkxt (x) dks fcUnqnkj js[kk 

ij eksM+k tk, rks fn, x, fodYiksa esa ls 
fdl fodYi ds vuqlkj fn[ksxh \ 
 
 

 
(X) 

      (1)           (2)             (3)           (4) 
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55. In a certain code BOXER is 

written as AQWGQ. How VISIT is 

written in that code ? 

(1) UKRKU (2) UKRKS 

(3) WKRKU (4) WKRKS 

  
55. ;fn fdlh lkadsfrd Hkk"kk esa BOXER dks 

AQWGQ fy[kk tkrk gks] rks mlh Hkk"kk 
esa VISIT dks dSls fy[kk tk;sxk \  

(1) UKRKU (2) UKRKS 

(3) WKRKU (4) WKRKS 

56. The first unit contains two figures 

and the second unit contains one 

figure and a question mark. Find 

out which one of the answer figure 

should be placed at question 

mark ? 

Problem Figures : 

 

Answer Figures : 

 

       (1)         (2)       (3)        (4) 

  
56. igyh bdkbZ esa nks vkd`fr;k¡ gSa o nwljh 

bdkbZ esa ,d vkd`fr rFkk iz'u fpg~u gSaA 
mÙkj vkd`fr;ksa esa ls dkSu&lh vkd`fr iz'u 
fpg~u ds LFkku ij gksuh pkfg, \ 
 
 

leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %    

 

mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %    

 

       (1)         (2)       (3)        (4) 

57. If :  3+9=31 

  15+27=95 

  18+9=36 

then, 12+27=? 

(1) 94 (2) 14 

(3) 49 (4) 53 

  
57. ;fn % 3+9=31 

  15+27=95 

  18+9=36 

rks]  12+27=? 

(1) 94 (2) 14 

(3) 49 (4) 53 
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58. Choose the picture that would go 

in the empty box so that the two 

bottom pictures are related in the 

same way as the top two are 

related - 

 

 

   (1)             (2)        (3)          (4) 

  
58. fn, x, fodYiksa esa ls ml fp= dks Nk¡fV, 

ftls [kkyh ckWDl esa j[kus ls uhps ds nksuksa 
fp=ksa esa ogh lEcU/k gks tk, tSlk fd Åij 
ds nksuksa fp=ksa esa gS & 

 
 

 

 

   (1)             (2)        (3)          (4) 

59. Statement : Some keys are 

staplers. Some staplers are 

stickers. All the stickers are pens. 

Conclusions : 

I. Some pens are staplers. 

II. Some stickers are keys. 

III. No sticker is key. 

IV. Some staplers are keys. 

(1) Only (I) and (II) 

(2) Only (II) and (IV) 

(3) Only (II) and (III) 

(4) Only (I) and (IV) and either 

(II) or (III) 

  
59. oDrO;oDrO;oDrO;oDrO;    %%%% dqN pkfc;k¡] LVsIyj gSaA dqN 

LVsIyj] fLVdj gSaA lHkh fLVdj] isu gSaA  

fu"d"kZ %fu"d"kZ %fu"d"kZ %fu"d"kZ %    

I. dqN isu] LVsIyj gSaA 

II. dqN fLVdj] pkfc;k¡ gSaA 

III. dksbZ Hkh fLVdj] pkch ugha gSA 

IV. dqN LVsIyj pkfc;k¡ gSaA 

(1) dsoy (I) o (II) 

(2) dsoy (II) o (IV) 

(3) dsoy (II) o (III) 

(4) dsoy (I) o (IV) rFkk (II) ;k (III) 
esa ls dksbZ ,d 
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60. If 'nso ptr kli chn' stands for 

'sharma get marriage gift', 'ptr 

lnm wop chm' stands for 'wife 

gives marriage gift', 'tti wop nhi' 

stands for 'he gives nothing' what 

would means 'gives' ? 

(1) chn  

(2) nhi 

(3) ptr  

(4) wop 

  
60. ;fn 'nso ptr kli chn' ls rkRi;Z ^'kekZ  

us fookg migkj izkIr fd;k*] 'ptr lnm 

wop chm' ls rkRi;Z ^iRuh us fookg dk 
migkj fn;k*]  'tti wop nhi' ls rkRi;Z 
^mlus dqN ugha fn;k* gks] rks fdldk 
rkRi;Z ^nsuk* gS \ 

(1) chn  

(2) nhi 

(3) ptr  

(4) wop 

61. Select a figure from the given four 

alternatives, which placed in 

the (?) 

 

Problem Figures : 

 

Answer Figures : 

        (1)         (2)         (3)          (4) 

  
61. fn, x, pkj fodYiksa esa ls dkSu lh vkd`fr 

iz'uokpd fpg~u ds LFkku ij vk,xh \ 
 

 

leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %    

 

mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr % 

        (1)         (2)         (3)          (4)    

? ? 
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62. How many quadrilaterals are 

there in the given figure ? 

 

(1) 10 (2) 11 

(3) 12 (4) 13 

  
62. nh xbZ vkd`fr esa dqy fdrus prqHkqZt gSa \ 

 

 

(1) 10 (2) 11 

(3) 12 (4) 13 

63. Figure below represents a balance, 

which symbol replaces (?) - 

 

 

(1)
  

(2)
  

(3)
  

(4) 
 

  
63. uhps ds fp= esa ,d rqyk cukbZ xbZ gS]  

iz'u fpg~u ds LFkku ij dkSu&lk fodYi 
¼izrhd½ j[kk tk ldrk gS \ 

 

(1)
  

(2)
  

(3)
  

(4) 
 

64. In a certain code, RIPPLE is 

written as 613382 and LIFE  is 

written as 8192. How is PILLER 

written in that code ? 

(1) 318826 (2) 318286 

(3) 618826 (4) 338816 

  
64. fdlh lkadsfrd Hkk"kk esa RIPPLE dks 

613382 rFkk LIFE dks 8192 fy[kk 
tkrk gks] rks mlh lkadsfrd Hkk"kk esa 
PILLER dks fdl izdkj fy[kk tk,xk \ 

(1) 318826 (2) 318286 

(3) 618826 (4) 338816 
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65. Which option replaces the 

question mark (?) in the figure 

given below ? 

 

 

       (1)          (2)          (3)         (4) 

  
65. uhps fn, x, fodYiksa esa ls dkSu&lk fodYi 

iz'u fpg~u ¼\½ ds LFkku ij vk,xk \ 
 
 

 

       (1)          (2)          (3)         (4) 

66. There are two statements given 

below as premises, which support 

the conclusion suggested in the 

answer options. You may select 

the conclusion that makes the 

whole argument valid.  

Statements : 

I. No film actors are cricketers.  

II. Some cricketers are poets. 

There fore : 

(1) Some poets are film actors. 

(2) Some poets are not film actors. 

(3) All poets are film actors. 

(4) All film actors are poets. 

  
66. uhps ifjdYiukvksa ds :i esa nks dFku fn, 

gq, gSa] tks mÙkj fodYiksa esa lq>kfor 
fu"d"kks± dk leFkZu djrs gSaA vki og 
fu"d"kZ pqu ldrs gSa tks lEiw.kZ rdZ dks 
ekU; cuk nsrk gS & 
 

dFku %dFku %dFku %dFku %    

I. dksbZ fQYe vfHkusrk fØdsVj ugha gSA 

II. dqN fØdsVj dfo gSaA 

vr%vr%vr%vr%    

(1) dqN dfo fQYe vfHkusrk gSaA 

(2) dqN dfo fQYe vfHkusrk ugha gSaA 

(3) lHkh dfo fQYe vfHkusrk gSaA 

(4) lHkh fQYe vfHkusrk dfo gSaA 
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67. Pick the odd one out among the 

following options - 

(1) Quiet – Calm 

(2) Seldom – Never 

(3) Peace – Tranquil 

(4) Rapid – Slow 

  
67. fn, x, fodYiksa esa ls ml fodYi dks 

pqfu, tksfd vU; fodYiksa ls fHkUu gks & 

(1) pqi & 'kkar 

(2) dHkh dHkh & dHkh ugha 

(3) 'kkafr & 'kkar 

(4) rhoz & /khek 

68. Look at this series : 664, 332, 340, 

170, ?, 89,....... . What number 

should be placed at (?) - 

(1) 85    

(2) 97 

(3) 109   

(4) 178 

  
68. nh xbZ Ük`a[kyk esa iz'uokpd fpg~u ds LFkku 

ij dkSu&lh la[;k vk,xh \ 

664, 332, 340, 170, ? , 89, ............ 

(1) 85   

(2) 97 

(3) 109  

(4) 178 

69. Choose the alternative which is 

closely resembles the mirror image 

of the given combination. 

 QUALITY 

(1)  

(2)  

(3)  

(4)  

  
69. fn, x, fodYiksa esa ls ml fodYi dks 

Nk¡fV, tks fd QUALITY dk niZ.k 
izfrfcEc gksA 

 

(1)  

(2)  

(3)  

(4)  
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70. In this question there is a set of 

three figures X, Y and Z showing a 

sequence of folding of a piece of 

paper. Figure (Z) shows the 

manner in which the folded paper 

has been cut. These three figures 

are followed by four answer 

figures from which you have to 

choose a figure which would most 

closely resemble the unfolded form 

of Fig. (Z) 

 

 (1)

  

(2)

  

(3)

  

(4)

  

  70. fn, x, iz'u esa rhu vkd`fr;ksa X, Y o Z 
dk ,d lewg fn;k x;k gSA tksfd ,d 
dkxt ds VqdM+s dks Øekuqlkj eksM+dj cukbZ 
xbZ gSaA vkd`fr (Z) ds vuqlkj dkxt dks 
dkVk x;k gSA ;fn dkxt dks [kksyk tk, rks 
fn, x, fodYiksa esa ls dkSu&lh vkd`fr 
cusxh \ 
 
 

 

(1)

  

(2)

  

(3)

  

(4)

  

71. In the  following problem of 

substraction find out the number 

which does not stand for CARE - 

222

ARE

CAR

−  

(1) 8640  

(2) 6420 

(3) 7531  

(4) 9753 

  
71. fuEufyf[kr ?kVkus ds iz'u esa dkSu&lh 

la[;k CARE ds fy, lgh ugha gS \ 
 

222

ARE

CAR

−  

(1) 8640  

(2) 6420 

(3) 7531  

(4) 9753 



  ( 33 ) A 

NTSE(Level-1) Exam. Nov. – 2018  P. T. O. 

72. A dice with six faces is marked with 

six numbers 1, 2, 3, 4, 5 and 6 

respectively. This dice is rolled 

three times and three positions are 

shown as : 

 

Find the number opposite to 1 - 

(1) 2   

(2) 6 

(3) 5  

(4) 4 

  
72. ,d ikls ds 6 lrgksa ij la[;k 1, 2, 3, 

4, 5 o 6 fy[kh xbZ gSA bl ikls dks  rhu 
ckj Qsadk x;k rFkk rhu voLFkk,¡ bl 
izdkj gSa % 
 

 

1 ds foijhr dkSu&lh la[;k gksxh \ 

(1) 2   

(2) 6 

(3) 5   

(4) 4 

73. If the position of the first and the 

sixth letters of the word 

'UNIFORMITY' are interchanged, 

similarly the position of 2nd with 

7th letter 3rd with 8th letter, 4th 

with 9th and 5th with 10th letter 

are interchanged.  Which letter 

will be 4th from the right end after 

arrangement ?  

(1) I (2) U 

(3) M  (4) N 

  
73. ;fn vaxzsth 'kCn 'UNIFORMITY' ds 

igys o.kZ dks NBs o.kZ ls] ijLij cny 
fn;k tkrk gSA blh izdkj nwljs o.kZ dks 
lkrosa o.kZ ls] rhljs o.kZ dks vkBosa o.kZ ls 
rFkk pkSFks rFkk ik¡pos o.kZ dks ukSosa rFkk 
nlosa o.kZ ls cny fn;k tkrk gSA rks bl 
rjg vUr esa O;ofLFkr 'kCn ds nkbZ rjQ 
ls pkSFkk o.kZ D;k gksxk \ 
 

(1) I (2) U 

(3) M  (4) N 
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74. Select a suitable figure from the 

four alternatives that would 

complete the figure matrix. 

 

 

 (1)       (2) 

 

 (3)       (4) 

  
74. fn, x, pkj fodYiksa esa ml mfpr fodYi 

dks pqfu, tks vkd`fr eSfVªDl dks iwjk djrk 
gksA 

 

 

 (1)       (2) 

 

 (3)       (4) 

Direction : (Q. No. 75 & 76) 

In the following questions which number 

will replaces question mark ? 

 

  
funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 75 ,oa 76½ 

fn, x, iz'uksa esa iz'uokpd fpg~u ds LFkku ij 
dkSu&lh la[;k vk,xh \ 

75. 

 

(1) 15  

(2) 18 

(3) 17  

(4) 16 

  
75. 

 

(1) 15  

(2) 18 

(3) 17  

(4) 16 
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76. 6 18 15 

3 2 5 

4 3 ? 

8 27 9 

(1) 2  

(2) 11 

(3) 3  

(4) 6 

  
76. 6 18 15 

3 2 5 

4 3 ? 

8 27 9 

(1) 2  

(2) 11 

(3) 3  

(4) 6 

77. In the question below select a 

figure from amongst the four 

alternatives, which when placed in 

the (?) of figure (x) would complete 

the pattern. 

Identify the figure that completes 

the pattern. 

 
(X) 

 

 

      (1)           (2)      (3)          (4) 

  
77. ml fodYi dks pqfu, tks iz'uokpd fpg~u 

¼\½ ds LFkku ij j[kus ij 
vfHkdYiuk@uewuk (x) dks iwjk dj nsxkA 

 

 
 

 
(X) 

 

 

      (1)           (2)       (3)          (4) 
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78. What number will come next in 

the given series ? 

36, 34, 30, 28, 24, ? 

(1) 20  

(2) 22 

(3) 23  

(4) 26 

  
78. nh xbZ Ük`à[kyk esa vxyh la[;k D;k gksxh \ 

36, 34, 30, 28, 24, ? 

 

(1) 20  

(2) 22 

(3) 23  

(4) 26 

79. If M%N means M is the son of N. 

M@N means M is the sister of N. 

M$N means M is the father of N. 

Than which of the following shows 

the relation that C is 

granddaughter of E ? 

(1) C % B $ F $ E 

(2) B $ F $ E % C 

(3) C @ B % F % E 

(4) E % B $ F $ C 

  
79. ;fn M%N  dk vFkZ M,N dk iq= gSA 

M@N dk vFkZ M,N dh cgu gSA 

M$N dk vFkZ M,N dk firk gSA 

rks fuEufyf[kr eas ls dkSu&ls lEca/k dk 

rkRi;Z C,E dh ikS=h gS \ 

 

(1) C % B $ F $ E 

(2) B $ F $ E % C 

(3) C @ B % F % E 

(4) E % B $ F $ C 
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80. By using your numerical and 

logical reasoning skills please try 

to find out which number is 

missing in the question below. The 

numbers around will give you the 

clues you need to solve the puzzle - 

 

(1) 9 (2) 4 

(3) 5 (4) 6 

  
80. vius la[;kRed o rkfdZd dkS'ky dk 

mi;ksx djrs gq, irk yxkb, fd fn, x, 
iz'u esa dkSu&lh la[;k yqIr gS \ igsyh dks 
gy djus ds fy, pkjks vksj nh xbZ 
la[;kvksa ls lqjkx fey tk,xk & 
 

 

(1) 9 (2) 4 

(3) 5 (4) 6 

Direction : (Q. No. 81 to 83) 

Seven villages A, B, C, D, E, F and G are 

situated as follows : 

E is 2 km to the west of B. F is 2 km to 

the north of A. D is 2 km to the south of 

G. C is 1 km to the west of A. G is 2 km 

to the east of C. D is exactly in the 

middle of B and E. 

  
funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 81 ls 83½ 

lkr xk¡o A, B, C, D, E, F rFkk G bl izdkj 

fLFkr gSa fd % 

E, B ds if'pe esa 2 fdeh ij gSA F, A ds mÙkj 

esa 2 fdeh ij gSA D, G ds nf{k.k esa 2 fdeh ij 

gSA C, A ds if'pe esa 1 fdeh ij gSA G, C ds 

iwoZ esa 2 fdeh ij gSA D, B rFkk E ds Bhd chp 

esa gSA 

81. How far is E from F (in km) ? 

(1) 5 km (2) 6 km 

(3) 4 km (4) 4.5 km 

  
81. E, F ls fdruh nwjh ij gS \ 

(1) 5 fdeh (2) 6 fdeh 

(3) 4 fdeh (4) 4.5 fdeh 
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82. Which two village are the farthest 

from one another ? 

(1) D and C (2) F and E 

(3) F and B (4) G and E 

  
82. dkSu&ls nks xk¡oksa ds chp dh nwjh lcls 

vf/kd gS \ 

(1) D rFkk C (2) F rFkk E 

(3) F rFkk B (4) G rFkk E 

83. A is in the middle of two villages : 

(1) C and F (2) B and D 

(3) C and G (4) C and B 

  
83. fdu nks xk¡oksa ds e/; esa A xk¡o fLFkr gS \ 

(1) C rFkk F (2) B rFkk D 

(3) C rFkk G (4) C rFkk B 

84. On what dates of April, 2001 did 

Wednesday fall ? 

 

(1)  

 

  

(2)  

 

 

(3)   

 

 

(4)  

 

  
84. vizSy] 2001 eas fdu&fdu frfFk;ksa dks 

cq/kokj Fkk \ 

 

(1)  

 

  

(2)  

 

 

(3)   

 

 

(4)  

 

  1
st
   8

th 

  15th 22nd 

  29th  

  3
rd

   10
th 

  17th 24th  

   

  2
nd

   9
th 

  16th 23rd  

  30th  

  4
th

   11
th 

  18th 25th  

   

  1
st
   8

th 

  15th 22nd 

  29th  

  3
rd

   10
th 

  17th 24th  

   

  2
nd

   9
th 

  16th 23rd  

  30th  

  4
th

   11
th 

  18th 25th  
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85. Select a suitable figure from the 

four alternatives that would 

complete the figure matrix - 

 

 

     (1)           (2)        (3)         (4) 

  
85. fn, x, pkj fodYiksa esa ml fodYi dks 

pqfu, tks eSfVªDl vkd`fr dks iwjk dj 
nsxk & 

 

 

     (1)           (2)        (3)         (4) 

86. Ten years ago, the age of mother 

was three times the age of her son. 

After ten years, mother's age will 

be twice that of his son. Find the 

ratio of their present ages - 

(1) 11 : 7  

(2) 9 : 5 

(3) 7 : 4  

(4) 7 : 3 

  

86. nl o"kZ igys ekrk dh vk;q vius iq= dh 

vk;q dh rhu xquk FkhA nl o"kZ i'pkr 

ekrk dh vk;q vius iq= dh vk;q dk 

nksxquk gks tk,xhA nksuksa dh orZeku vk;q esa 

D;k vuqikr gS \ 

(1) 11 : 7  

(2) 9 : 5 

(3) 7 : 4  

(4) 7 : 3 
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Direction : (Q. No. 87 & 88) 

Choose the correct alternative that will 

continue the same pattern and replace 

the question mark in the given series : 

  
funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 87 ,oa 88½ 

nh xbZ Ük`a[kyk esa iz'uokpd fpg~u ds LFkku ij 
dkSu&lh la[;k vk,xh rkfd Ük`a[kyk dk iSVuZ cuk 
jgs \ 

87. 0, 2, 3, 5, 8, 10, 15, 17, 24, 26, ? 

(1) 28 (2) 30 

(3) 32 (4) 35 

  
87. 0, 2, 3, 5, 8, 10, 15, 17, 24, 26, ? 

(1) 28 (2) 30 

(3) 32 (4) 35 

88. 2, 2, 5, 13, 28, ? 

(1) 49  

(2) 50 

(3) 51  

(4) 52 

  
88. 2, 2, 5, 13, 28, ? 

(1) 49  

(2) 50 

(3) 51  

(4) 52 

89. In an examination, a student 

scores 4 marks for every correct 

answer and loses 1 mark for every 

wrong answer. If he attempts all 

75 question and secures 125 

marks, the number of question he 

attempted correctly, is - 

(1) 35 (2) 40 

(3) 42 (4) 46 

  
89. ,d ijh{kk esa ,d fo|kFkhZ ds izR;sd lgh 

mÙkj ds 4 vad feyrs gSa rFkk izR;sd xyr 
mÙkj dk ,d vad dkV fy;k tkrk gS ;fn 
mlus lHkh 75 iz'u gy fd, gksa rFkk 125 
vad izkIr fd, gksa] rks mlus fdrus iz'u 
lgh gy fd, \ 
 

(1) 35 (2) 40 

(3) 42 (4) 46 
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90. Below you are served with four 

different type of Venn diagrams 

that indicate a definite 

relationship between Tennis, 

Rugby and Soccer. You need to 

find out the diagram which is the 

most relevant - 

(1)
   

(2)
  

(3)
   

(4)
  

  
90. uhps pkj fHkUu&fHkUu osu vkjs[k fn, x, 

gSa tks Vsful] jXch vkSj QqVcky ds laca/k 
dks iznf'kZr djrs gSaA buesa ls dkSu&lk osu 
vkjs[k mfpr laca/k dks iznf'kZr djrk gS \ 
 
 
 

(1)
   

(2)
  

(3)
   

(4)
  

91. Seema started early in the 

morning on the road towards the 

Sun. After some time she turned 

to her left. Again after some time 

she turned to her right. After 

moving some distance she again 

turned to her right and began to 

move. At this time, in what 

direction was she moving ? 

(1) South  

(2) North–West 

(3) North–East  

(4) East 

  
91. lhek lqcg&lqcg lw;Z dh vksj lM+d ij 

pyuk izkjEHk djrh gS dqN le; i'pkr 
og vius ckbaZ vksj eqM+ tkrh gS dqN le; 
i'pkr og vius nkb± vksj eqM+ tkrh gSA 
dqN nwjh r; djus ds i'pkr og iqu% 
vius nkb± vksj eqM+ tkrh gS rFkk pyuk 
izkjEHk dj nsrh gSA bl le; og fdl 
fn'kk esa py jg jgh gS \ 
 

(1) nf{k.k   

(2) mÙkj&if'pe 

(3) mÙkj&iwoZ  

(4) iwoZ 
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92. How many numbers from 1 to 50 

are there each of which is not only 

exactly divisible by 4 but also 

contain 4 as a digit in it ? 

(1) 5  

(2) 4 

(3) 7  

(4) 8 

  
92. 1 ls 50 rd dh la[;kvksa esa ,slh fdruh 

la[;k,¡ gSa tksfd 4 ls foHkkftr gksrh gSa 
rFkk ml la[;k esa vad 4 Hkh gks \ 
 

(1) 5  

(2) 4 

(3) 7  

(4) 8 

93. The given figure (x) has dots that 

fulfil same conditions. Find out a 

figure from the alternatives where  

if dots are placed they will fulfil 

the same conditions - 

 
(x) 

(1)
   

(2)
  

(3)
   

(4)
  

  

93. nh xbZ vkd`fr (x) esa fcanq gSa tks dqN 'krksZ 
dks iwjk djrs gSaA fn, gq, fodYiksa esa ls 
og vkd`fr pqfu, ftlesa ;fn fcanq j[ks tk,¡ 
rks og mUgha 'krks± dks iwjk djsaxs & 
 

 
(x) 

(1)
   

(2)
  

(3)
   

(4)
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94. Arrange the words given below in 

a meaningful sequence. 

1. Probation  

2. Interview  

3. Selection 

4. Appointment  

5. Advertisement 

6. Application 

 

(1) 5, 6, 3, 2, 4, 1 

(2) 5, 6, 4, 2, 3, 1 

(3) 5, 6, 2, 3, 4, 1 

(4) 6, 5, 4, 2, 3, 1 

  
94. uhps fn, x, 'kCnksa dks Øe ls O;ofLFkr 

dhft,A 

1. ifjoh{kk ¼u;s vH;kl dk dky½ 

2. lk{kkRdkj 

3. pquko 

4. fu;qfDr 

5. foKkiu 

6. vkosnu Ik= 

 

(1) 5, 6, 3, 2, 4, 1 

(2) 5, 6, 4, 2, 3, 1 

(3) 5, 6, 2, 3, 4, 1 

(4) 6, 5, 4, 2, 3, 1 

95. A word given in capital letters is 

followed by four answer words. 

Out of these only one cannot be 

formed by using the given words. 

Find out this word ? 

 NECESSARY 

(1) NICE  

(2) ESSAY 

(3) EASY   

(4) RACE 

  
95. vaxzsth o.kZekyk ds cM+s o.kks± esa ,d 'kCn 

fn;k gS mlls pkj mÙkj 'kCn fudkys x, 
gSaA bu pkj esa ls ,d 'kCn ,slk Hkh gS tks 
fn, x, 'kCn ds o.kks± ls ugha cuk gSA ml 
'kCn dks Nk¡fV,A 

 NECESSARY 

(1) NICE  

(2) ESSAY 

(3) EASY   

(4) RACE 
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Direction : (Q. No. 96 & 97) 

In a quiz competition out of 880 

participants, 224 choose Mathematics 

240 choose Science and 336 choose 

Sports, 64 choose both Sports and 

Science, 80 choose Mathematics and 

Sports, 40 choose Mathematics and 

Science and 24 choose all the three 

subjects. 

  

funsZ'k %funsZ'k %funsZ'k %funsZ'k % ¼iz0 la0 96 ,oa 97½ 

,d iz'uksÙkjh izfr;ksfxrk esa 880 izfr;ksxh esa ls 
224 us xf.kr fo"k; pquk] 240 us foKku rFkk 
336 us [ksy pquk] 64 us foKku rFkk [ksy nksuksa 
fo"k;] 80 us xf.kr rFkk [ksy nksuksa fo"k;] 40 us 
xf.kr rFkk foKku nksukas fo"k; pqus rFkk 24 us 
lHkh rhuksa fo"k;ksa dks pqukA 

96. The percentage of participants 

who did not choose any subject is : 

(1) 23.59  

(2) 30.25 

(3) 37.46  

(4) 27.27 

  
96. fdrus izfr'kr izfr;ksxh us dksbZ Hkh fo"k; 

ugha pquk \ 

(1) 23.59  

(2) 30.25 

(3) 37.46  

(4) 27.27 

97. Of those participating, the 

percentage who choose only one 

subject is : 

(1) 60  

(2) More than 60 

(3) Less than 60  

(4) More than 75 

  
97. fdrus izfr'kr izfr;ksfx;ksa us dsoy ,d 

fo"k; pquk \ 
 

(1) 60  

(2) 60 ls vf/kd  

(3) 60 ls de  

(4) 75 ls vf/kd 
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98. If '×' stands for 'addition', '<' 

stands for 'subtraction', '+' stands 

for 'division', '>' stands for 

'multiplication' '–' stands for 'equal 

to', '÷' stands for 'greater than' and 

'=' stands for 'less than', state 

which of the following is true ? 

(1) 3 × 2 < 4 ÷ 16 > 2 + 4 

(2) 5 > 2 + 2 = 10 < 4 × 8 

(3) 3 × 4 > 2 – 9 + 3 < 3 

(4) 5 × 3 < 7 ÷ 8 + 4 × 1 

  
98. ;fn '×' ls rkRi;Z ^tksM+*] '<' ls rkRi;Z 

^?kVk*] '+' ls rkRi;Z ^Hkkx*] '>' ls rkRi;Z 
^xq.kk*] '–' ls rkRi;Z ^cjkcj* gS*] '÷' ls 
rkRi;Z '>' rFkk '=' ls rkRi;Z '<' gks] rks 
fuEufyf[kr esa ls dkSu&lk lgh gS \ 
 
 

(1) 3 × 2 < 4 ÷ 16 > 2 + 4 

(2) 5 > 2 + 2 = 10 < 4 × 8 

(3) 3 × 4 > 2 – 9 + 3 < 3 

(4) 5 × 3 < 7 ÷ 8 + 4 × 1 

99. Count the number of cubes in 

following figure - 

 

(1) 68  

(2) 69 

(3) 70  

(4) 71 

  
99. nh xbZ vkd`fr esa ?kuksa dh la[;k fdruh 

gSa \ 

 

(1) 68  

(2) 69 

(3) 70  

(4) 71 
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100. Select a figure from the given four 

alternatives, which placed in 

the (?) - 

Problem Figures : 

 

(x) 

Answer Figures : 

 

     (1)         (2)     (3)        (4) 

  
100. uhps fn, x, fodYiksa esa ls dkSu&lh 

vkd`fr iz'uokpd fpg~u ds LFkku ij 
vk,xh \ 

leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %leL;k vkd`fr %    

 

(x) 

mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr %mÙkj vkd`fr % 

 

     (1)         (2)     (3)        (4) 
 



   

5. iz'uksa ds mÙkj] mÙkj i=d esa fu/kkZfjr [kkuksa dks dkys/uhys 
ckWy IokbaV iSu ls iw.kZr;k dkyk djuk gS] tSlk fd uhps 
fn[kk;k x;k gS % 

1 � 3 4 

vki }kjk fn;k x;k mÙkj xyr ekuk tk,xk] ;fn mÙkj okys 
[kkus dks fuEu izdkj ls Hkjrs gSa % 

� � � � 

;fn ,d ls T;knk [kkuksa dks Hkj nsrs gSa rks vkidk mÙkj xyr 
ekuk tk,xkA 

  5. Answers   to  questions  in answer sheet are  to  be  given 
by darkening complete circle using Black/Blue ball point 
pen as shown below : 

1 � 3 4 

The answer will be treated wrong, if it is marked, as 
given below : 

� � � � 

If you fill more than one circle it will be treated as a 
wrong answer. 

6. jQ dk;Z ijh{kk iqfLrdk esa bl iz;kstu ds fy, nh xbZ [kkyh 
txg ij gh djsaA 

  6. Rough work should be done only in the space provided 

in the Test Booklet for the same. 

7. lHkh mÙkj dsoy OMR mÙkj i=d ij gh vafdr djsaA vius 
mÙkj /;kuiwoZd vafdr djsaA mÙkj cnyus gsrq 'osr jatd 
¼lQsn ¶Y;wM½ dk iz;ksx fuf"k) gSA  

  7. The answers are to be recorded on the OMR Answer 

Sheet only. Mark your responses carefully. No whitener 

(white fluid) is allowed for changing answers. 

8. izR;sd iz’u ds fy, fn, x, pkj fodYiksa esa ls mfpr   
fodYi ds fy, OMR mÙkj i=d ij dsoy ,d oÙ̀k      
dks gh iwjh rjg uhys@dkys ckWy IokbaV iSu ls HkjsaA        
,d ckj mÙkj vafdr djus ds ckn mls cnyk ugha tk   
ldrk gSA 

  8. Out of the four alternatives for each question, only one 

circle for the most appropriate answer is to be darkened 

completely with Blue/Black Ball Point Pen on the OMR 

Answer Sheet. The answer once marked is not allowed to 

be changed. 

9. vH;FkhZ lqfuf’pr djsa fd bl mÙkj i=d dks eksM+k u tk,  
,oa ml ij dksbZ vU; fu’kku u yxk,¡A vH;FkhZ viuk 
vuqØekad mÙkj i=d esa fu/kkZfjr LFkku ds vfrfjDr vU;= u 
fy[ksaA 

  9. The candidates should ensure that the Answer Sheet is 

not folded. Do not make any stray marks on the Answer 

Sheet. Do not write your Roll No. anywhere else except 

in the specified space in the Answer Sheet.  

10. ijh{kk iqfLrdk ,oa mÙkj i=d dk /;kuiwoZd iz;ksx djsa] D;ksafd 
fdlh Hkh ifjfLFkfr esa ¼dsoy ijh{kk iqfLrdk ,oa mÙkj i=d ds 
Øekad esa fHkUurk dh fLFkfr dks NksM+dj½ nwljh ijh{kk iqfLrdk 
lSV miyC/k ugha djokbZ tk,xhA 

  10. Handle the Test Booklet and Answer Sheet with care, as 

under no circumstances (except for discrepancy in Test 

Booklet and Answer Sheet Serial No.), another set of Test 

Booklet will not be provided. 

11. ijh{kk iqfLrdk@mÙkj i=d esa fn, x, Øekad dks vH;FkhZ lgh 
rjhds ls gkftjh i= esa fy[ksaA 

  11. The candidates will write the correct Number as given in 

the Test Booklet/Answer Sheet in the Attendance Sheet. 

12. vH;FkhZ dks ijh{kk gkWy@d{k esa izos’k dkMZ ds flok; fdlh 
izdkj dh ikB~;lkexzh] eqfnzr ;k gLrfyf[kr dkxt dh ifpZ;k¡] 
istj] eksckby Qksu] bysDVªkWfud midj.k ;k fdlh vU; izdkj 
dh lkexzh dks ys tkus ;k mi;ksx djus dh vuqefr ugha gSA 

  12. Candidates are not allowed to carry any textual material, 

printed or written, bits of papers, pager, mobile phone, 

electronic device or any other material except the Admit 

Card inside the examination hall/room. 

13. i;Zos{kd }kjk iwNs tkus ij izR;sd vH;FkhZ viuk izos’k dkMZ 
¼jksy ua0½ fn[kk,¡A 

  13. Each candidate must show on demand his/her Admit 

Card (Roll No.) to the Invigilator. 

14. dsUnz v/kh{kd ;k i;Zos{kd dh fo’ks"k vuqefr ds fcuk dksbZ 
vH;FkhZ viuk LFkku u NksMa+sA 

  14. No candidate, without special permission of the 

Superintendent or Invigilator, should leave his/her seat. 

15. bysDVªkWfud@gLrpkfyr ifjdyd dk mi;ksx oftZr gSA   15. Use of Electronic/Manual Calculator is prohibited.  

16. fdlh gkyr esa ijh{kk iqfLrdk vkSj mÙkj i=d dk dksbZ Hkkx 
vyx u djsaA 

  16. No part of the Test Booklet and Answer Sheet shall be 

detached under any circumstances. 

17. ijh{kk lEiUu gksus ij] vH;FkhZ d{k@gkWy NksM+us ls iwoZ mÙkj 
i=d d{k&i;Zos{kd dks vo’; lkSai nsaA vH;FkhZ vius lkFk bl 
ijh{kk iqfLrdk dks ys tk ldrs gSaA 

  17. On completion of the test, the candidate must hand over 

the Answer Sheet to the Invigilator in the Room/Hall. 

The candidates are allowed to take away this Test 

Booklet with them. 

18. pwafd bl iz'u-i= ds rhuksa Hkkxksa ds fy, fu/kkZfjr le; lhfer 
gS] blfy, bldk vf/kdre lnqi;ksx dhft, vkSj fdlh iz'u 
ij cgqr le; u yxkb,A 

  18. Since the time allotted to the three parts of this question-

paper is very limited, you should make the best use of it 

by not spending too much time on any question. 
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